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Let R be a relation defined on ZxZ by
(a,b) R(c,d) & a-d=b-¢c, where Z is
the set of all integers, then R is :
Options:

reflexive but neither symmetric nor

1 lransitive.



symmelric but neither reflexive nor

transitive.

lransitive but neither reflexive nor

symmet ric.

symmelric and transitive but not

reflexive.
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that |z| = 1. Then the imaginary part of
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The set of all real values of « for which the

equatifm,.x | 2||:;_ 2| — a2~ 2 has real

solutions for x, is :
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Let A be a 2x2 matrix such that
A2+ A+1=0, where I=1,. Then

adjl(1 A}*‘*]‘ is equal to :
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If the system of linear equations
x+4y—3z=2
X +7y—4z=u

x—dy+5z=p
has infinitely many solutions, then the
ordered pair («, [3) cannot take the value :
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Let A be the set of all 3-digit natural
numbers and B={x ¢ A: H.C.F. (x, 15)=1}.
Then the number of elements in B is :
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If r is the remainder obtained on dividing
(98)° by 12, then the coefficient of x* in the

32T

2 ;i ; ; X .
Binomial expansion of {1 | EJ is :
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[n an increasing geometric series, the sum
of the first and the sixth term is 66 and the
product of the second and the fifth terms is
128. Then the sum of the first 6 terms of
this series is :
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Let f be a continuous function defined by
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Let y be an implicit function of x defined
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Let f: R-{0}] — R be defined by
fix)=alog, |x] +bad 422

If x= —1and x=1 are the critical points of
f(x), then :
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= minima of f(x)
x=1is alocal minimaand x= -1 is
i local maxima of f{x)
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Let f: [0, 5] =R be a continuous function
such that |f(x)| = 3 for all x € [0, 5] and

2 3
[f(tdt = 3. Then the value of [ftyat
] ]

can be :
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The area (in sq. units) above the x-axis
bounded by the parabola,x —y?>~ 1=0and
the linex —y—3=01s:
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Let the tangent drawn at any point P(x, y)
on a curve intersect the x and y axes at two
distinct points A and B respectively. If
AP : PB = 5:1, and the curve passes
through the point (2, 2) then an equation of
the curve is :
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Let A(1, 3) and C(5, 1) be two opposite
vertices of a rectangle. The other two
vertices B(a, b) and D(c, d) lie on the line
y=2x+Kk for some k. Then the value of
(@a+b)ctd)is:

Options:
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Let the abscissae of two points A and B on

a circle be the roots of 2 + 2x — 4=0and the

ordinates of A and B be the roots of

y> +4y - 16=0. If AB is a diameter of this

circle, then the radius of this circle is :
Options:
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Let P be the point on the parabola L.r2 =3x

such that O makes an angle of % with the

x-axis, where O is the origin. A normal is
drawn to the parabola at P’ intersecting the
axis of the parabola at Q. If Sis the focus of
the parabola, then SQ is equal to :

Opt_ions:
39
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41
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THF A9 F Q W F2dl &1 AT WA F
TfgF=Z S B 1 SQ T T

Options:



Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HRLS P ol ey y?=3x U 21q (g 5 %

?ll OP 1 x- g it g Al vl vedl, sl

O Qb ©. P 210 wzeaud erd 21 tde
ol YHEYAL oA Q P B8 5. sd S
YzeeHl AR €l dl SQ “lrie
Y,
Options:

39

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let the ellipse x%+ 16y*> = 16 be inscribed in
a rectangle whose sides are parallel to the
coordinate axes. If the rectangle is inscribed
in another ellipse that passes through the
point (16, 0), then the equation of the outer
ellipse is :



Options:
7 -3
, ¥+ 256y%=167

12 2483;3:162
2 240y3=167"-

2 1123;3: 16-

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T S, a2 + 16y2=16, TH A Faget
ST a9 940 % WA 2, T A=id oA
T | g o, UF R €regY % A
T T ¥ AR AR S A (16, 0) ®
B T A1 €, o S HHER E

Options:

;. x2+256y2 =162

12 2433;3:163
2 24{]y3=163

x>+ 232y% =16

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Azl 5 ool slggoll qPUslA MHIdR € del
dorllzyHl Guaa x2 + 1617 =16 2 . st
wL detelizy, (695 (16, 0) 2l 412 2t €14 ael
oflod Guatel 2Acpld €1, ol YRl Busad

HHlszel £,

Options:

;. x2+256y2 =162

2 3 -
5 x°+248y-=16°

o X2+ 240y2=16



) i) -3
4 X +232y<=16°

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let the planes x—-2y+kz=0 and
x+5y —z=0 be perpendicular. Then the
plane through the point (2, ~2, —2) and
perpendicular to the given planes also
passes through the point :

Options:
, 0,5,8)

, (0,5, ~8)

1,0,7
4. ( 7)

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HATHAGA x— 2y +kz=0d9M x+5y—z=0
WO oEEd 81l 98 JHad w1 fag
2, —2, —2) ¥ T W € 7 e T wead
& o g, = § 4 farw fag @ g o
€7

Options:

. (0,5, 8)

, (0.5, -8)
; (-1.0.-7)

1,0,7
, 10.7)

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Azl s MHddly — 2y + kz=0 2 x+ 57— z=0
det 8. dileg 2, -2, —2) wigdl wur ad da
el YAl € HHad (gl
YBLYHE UM 9.

Options:

, (0.5,8)

, (0,5, ~8)

5 (18-

1,0,7
4, ( )

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I the two Ii r—2m._ . ¥y . Z—4
g, 2Zm+ 5 sm 2

d-x 2. ¥w. . z—2m o]

an m— 2 | | 3Im aIe patatie

for some m ¢ R, then the distance between
them is :

Op_tions:

i V10

> 245

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4fe fFHf m e R 7 fom, <1 wand

xX—2m _y _z—4 o

2m+ 5 Hm 2

xr—2 1 z—2m .
i % <

m— 2 | | Im



Options:

1 V10

> 25

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
519 me R HI2 s o 2ol

x— 2m i z—& 5
e = |

2m+ 5 H=m 2

g2 _ 3 =T HHildz €1y, dl

m-— 2 1 1 — 3m o
Auedl o2 sl 8.
Op_tions:
i V10

> 245

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

If three wvectors VII = g i i

\lr:z pe ‘:. f E’} Ek and ‘.‘-’3 =
—> —

coplanar, and V; and V3 are

perpendicular, then the vector V; x V,
15 :

Options:



1.

2.; J}rEE
; i+ 7

; 2i — 27 + k

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

—p A e

qie d=  Afee '\,-’I = ol ; | k

—

V,=i+Bj—2k A v, =i+j

I3

A &, TV, 3RV, TWOR e

= .—} — .
qaem v o« V, #:

Options:

. i 4 ; -2k
5 J EE'
it ]

L 20 -2 +k

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e

Vo =i +Bj—2k 1 Vy=i+j
RN o
el B, dal vy o vy weur dud, dl

Options:



Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
., x,, be the observed data such

If x, x,, ..
. I'IJ
that lxi 2n = 180 and
1=1
o~
> % — 7n= 30, then the mean of the
=1
data (x; —3), (x»—3), ..., (x,, —3) is equal
to:
Options:
L 3
8
2.
13
3 3
16
4 3

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

afg demi v, vy, ..., x, T9 IFR € T

n
X — 2n= 1809 Y x; — 7n= 30,
1 1=1
;ﬁg{xt 3), (%3~ 3), ..., (x,—3) F1 A=A

Options:

[1=

;-



Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl 27 T R, ) wlef] 2edllsa wledl & &

o2l D x; — 2n= 180 dal

n
=1

Y x — 7n=30, ay, dl wd @, -3),

3), ... (x,—3) -l uEds “aLeR
.
Options:
5

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If for two events A and B, in a random
, 4 1
experiment, P(A |B)= 5 and P(B| A)= 1

then P.{A |AuUB) isequal to:

Options:



16
17

11
4 16

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

IfE U AgieeE A H, g1 92AE A a9 B
: 4 s
% fau P(A|B)= = TN P(B|A)= 7 g @
P(A|AUB) TR & :

Options:
2
16

16
17

11
4 16

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
519 s HAPIML st oL el A 2 B |

4 _ - f o
P(A[B)=7 =1 P(B|A)= €l dl

P(A|A UB) SRR 8.

Options:



i 16
5
5 17
16
= 17
1
4 16

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If 6 cos2h—2 cos20—3=0, then tan230 is
equal to :

Options:

3

k| o

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ifg 6 cos2 — 2cos20 — 3=0%, W tan230 =

=

g

Options:



M| o

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
s 6 cos2i —2 cos20 — 3 =0, dl tan230 AU
B

Options:
1

1. 3

a3

M| o

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If a, b and c (all distinct) are the sides of a
triangle ABC opposite to the angles A, B

and C, respectively, then
c sin(A — B) bsin(C = A) .
= - - 5 is equal to :
a b* ¢ a
Options:
0
1.
1
2.
2
=
4 :

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



I a, b T ¢ (T fafvm) v 395 ABC =

o & 9, FHY:, SHE 0 A, BAMC F
s .csin{;—‘x B) bsin(C — A)

THEE, W — 2 2 2

a- i) C a

AL E

Options:

i B

-2

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl a, b @i ¢ (i [Bet) 2 2is4 s Bisia
ABC AL veull A, B 21 C Al Al eusg=il
- csin(A —~ B)  bsin(C — A)

i, ol
- b% 2 a’

d

Options:

. B

-2

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The expression (p«>q) is equivalent
to:

Options:

, ApA~g)aghe~p)



, P

gy W

(~pAq)v(~qAp)
4

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FAF - (p s q) T & A TFos aoqea &7

Options:
1(pﬂ-qbﬂqﬂ-pl
Z. PYq

5 PATA

(~prqv(~qap)
4

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(Buel ~(peq) = A HusE
Options:
1(pﬂ-qJﬂMA-;ﬂ
o
> PV
gy A

(~prq)v(~qap)
4.

Aptitude Test

Section Id : 416529350
Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 8



Number of Questionsto be attempted: 8

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 416529530
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31to 45)
Cuestion Label @ Comprehension

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A small lift for carrying small loads only is
known as which of the following ?

Options:

i A deaf bearer

5 A dumb waiter

A jockey boy

y A push upper

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Hindustan Parryware in the Indian market
is known for which of the following
product 7

Options:
Pipes

1
5 Sanitary ware

Wall tiles

4 Wooden tables



Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which one of the following is a UNESCO
World Heritage Site ?
Options:

;. Kochi

5 Hampi

g Bijnor

i Bijapur

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The most famous temple in the Khajuraho
group of temples is which one of the
following ?

Options:

1 Shiva Temple

5 Kandariya Mahadev Temple

5 Ganesh Temple

y Krishna Temple

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Parquet flooring is usually made of which
of the following ?

Options:
Granite

5 Marble

Cement
=

4 Wood



Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The fort in Hyderabad is known as which
of the following ?

Options:

. Bahubali

Golconda
Siladhari

Virbanda

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which one of the following is the tallest
building in Bengaluru ?

Options:

i World Trade Centre

5 Mantri Pinnacle

5 Concord Tower

i U B Tower

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The Sas Bahu Temple is located in which
of the following ?

Options:

i Red Fort

5 Jhansi Fort

5 Gwalior Fort



4 Jaipur Fort

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which amongst the following is the city in
[taly that is known for its leaning tower ?
Options:
i Venice

5 Florence

5 Rome

Pisa
4.

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The Lotus Temple is located in which one
of the following city ?

Options:

1 New Delhi

> Nagpur

Kanpur

4 Lucknow

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Cement Plaster is used for which of the
following ?

Options:

] Covering walls

5 Making roofs

Making staircases
=, &



Making floors

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Helical staircases are which one of the
following ?

Options:

i Dog leg staircases

5 Curving staircases

5 Straight flights

¥ Staircases with no railings

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An escalator moves in which of the
following directions ?

Options:

L Only vertically

5 Only horizontally

5 Vertically and Horizontally

In steps
g P

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Rooms with white painted walls appears
to be which of the following ?

Options:

. Smaller

5 Larger

5 Darker



i MNarrower

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Zaha Hadid was borm in which country
amongst the following ?

Options:

: Iran

5 Iraq

5 Afghanistan

4 Turkistan

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 45)
Cuesticon Label | Comprehension

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A Bl H1 323 F 60 UF BRI AR F

Te=ferfaa § 9 fgs =9 4 <1 s 27
Options:
, I =l g

, T () A
5 U S g

4 T TR

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AR 9Tar | fégmm Wam f=fataa 8§ 4
g 3eare & oo s o £ 2

Options:



T
% T2 997 (=g d T J9HE)
5 SR 2TEd

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Trefafad § T %F 91 UF g9 999 sl
A 77

Options:

il

el

5 fawrR

-

4.

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

-

WIAE e % Wied § wad wfag Hfew
FreAfefigd § 9 FF A1 8 ?

Options:

| fomf

2.r- + A
i

4. : i

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



T FY AMaR W AEfatEd 8§ | fmay
EECIN-

Options:

, TS

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e | Tt 1 fafafaa § 9 fags am
T oI &7

Options:

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Freafafeas § 9 FF-9 AeE 9 999 90
A e ?

Options:

i favg =mr &=

o Al TR

3 i -ul.l' ]

i g 9f 2e



Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
e =g A Freafafaa § 4 faa 8§ fem g2
Options:

1?161‘&?41

, w5 fwem

. Taiera &1 Taen

4_@311%5:—'"

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T2l 1 9F Ve A 91 2 Sl 3194 g 2
 for = = &7

Options:

, afH

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

wreq o frafaias 3 9 feg e § fom
27

Options:

1 ?ﬁ,‘ feeet



Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HiHe 2T F1 I3 Fafafag § 9 fF9s
Toqu o s 22
Options:

1. TR %1 @

EE?IEFTFH

o il =

4_IFE’EEHHT

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ToFIeR Hifeal fefafad § 4 &6 =@ 87
Options:

| =0 it i

o ST it
o el 3T

, Tarn fepit Yfcm < wifear T

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TR Frefatad | 4 frg fem d sema 22
Options:

P T

2. A :

- TR AR AfTs w93

4 HEHTH



Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HHS T & SEW 9 wAC AEfatad § 3
FH Y Jeid 2 &7

Options:

i

1.

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

el were frefafaa 5 9 fra oo | T
i ?
Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31to 45)
Juestion Label - Comprehension

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
55 wlldl S Galadl el Al dlsz =
AlhAiall 2uHl sy 2 97

Options:

| s 2l A



o s il A2

5 25 sdsl Bis

¥ Bl Yl Gz

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sicdly vsiul [ Y8R (Hindustan
Parryware) $41 GouigA w2 saglld 7
Options:
, gy

2ei2e9el WAl |
[Eenadl @zl

ALsSHL e

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al2iAruizl] 4t dil2ee ide 58 87
Options:

sl2l

1.

5 |

5 o{leg-iz

4 eAlsyz

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wisgriel AL Ayl Al 9y wvad skR
ALzl 54 &7

Options:



(21 Hils2
Sl wetea wlkr
aeial =

saaL R

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Yizsde sAlEbL #t Wy dd Rqsiel wud
o 87

Options:

;A2

w123
5 [z

AL5SL

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
detetEAL (seell Azl 20 Al 2oy
57

Options:

1 gl

5 g5l

4 BEICIE]

i [EEDTA]

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Alderuizll 54 U5t vipugzdl Hiell Gz &7

Options:



[Hleet R g
Heof| [Uese

- slesd 2R

L]

. B ofl 212

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ay A iz Al sul wudd 97
Options:

;i Beal

o il [seell
5 Al (el

, R beal

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
dedld izl 54 2¢2 gl BRL e savlld
57 i i
Options:

ke il

5 SR

3 <4

r "
4 Yl

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AliAr izl 541 2l dizy 2 e 2U8d 6

Options:



, el (el

APYR
SR

Qi

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Btz e ARzl i He w67
Options:

R ICIERAES

5 Ol “-idEl

5 14| oirieaL

. dltiy (floors) ei-tistell

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
dellse ISl Ala-ial of 87

Options:

, sl e Hlgla

o ddl Al
5 M Boun

4 el el 2l

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
b2 izl 59 (Bausl w4 67

Options:



| % BRlde
5 (& [sy
3 Eridet i wulaldesy

; Yzl wHLel

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
w58 2atell Foldl Bendl s 33 AlRimiel 54
U5RAL AL 8§57
Options:
=L
1.

5 Hlel

= eRL (Darker)

4 HissL

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

sl 215 ARzl s gl sy ]
Options:

;B

5 BRI

3 s el

. 52l

Sub-Section Number: 2
Sub-Section 1d: 416529531
Question Shuffling Allowed : Yes



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Question Label : Comprehension
Directions : One of the following answer figures is hidden in the problem figure in the
same size and direction. Select the correct one.

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

T %=

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Cestion Label | Comprehiension

Wl srelod wiglaeiiaidl 21y wusld 2ler 55 2 Bal 2w 2ugldal pusd . well [[bsey
Y 52l
Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Sub-Section Number: 3
Sub-Section I1d: 416529532
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)
Cesticn Label | Comprehension

Directions : Which one of the answer figure will complete the sequence of the three
problem figures ?

Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)
Cesticn Label | Comprehension
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Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Sub-Section Number: 4
Sub-Section Id: 416529533
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)



Cuesticon Label | Comprehension

Directions : The 3D figure shows the view of an object. Identify the correct front view
looking in the direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:




Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Juestion Label - Comprehension

29T : 3D wo i H us 9% % UF 994 & fom@mEn T g d1 &6 fawn § 2w g, vHa
TR gY4 1 I AERE H ° TEEnd |
Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

B
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Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:

Sub-Section Number:
Sub-Section Id:

Question Shuffling Allowed :

5
416529534
Yes



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61 to 65)

Juestion Label - Comprehension

Directions : Which one of the answer figures is the correct mirror image of the problem
figure with respectto X - X?

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
X




Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X

Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61to 65)
Juestion Label - Comprehension
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Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
X
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1



Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61 to 65)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
X
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
X

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X

Options:




Sub-Section Number: 6
Sub-Section 1d: 416529535
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 70)
Cuesticon Label | Comprehension

Directions : The problem figure shows the top view of an object. Identify the correct
elevation from amongst the answer figures looking in the direction of the arrow.

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 70)

Question Label - Comprehension
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Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 70)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:




Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Sub-Section Number: 7
Sub-Section I1d: 416529536
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (71 to 75)
Cesticn Label | Comprehension

Directions : The 3D figure shows the view of an object. Identify the correct top view
from amongst the answer figures.

Sub questions

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (71to 75)
Cestion Label | Comprehiension

4397 : 3D W A H vF 9 F UH 3 F fowen ¥ wHA W I 39, IW
A H 9 TEar |
Sub questions

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

L

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:




Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (71to 75)
Juestion Label @ Comprehension

Hasll : 3 - D 2ugld s ugel e v 8. sreliet ugldiaizl we Guil e 45l sL

Sub questions



Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

L

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:




Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Sub-Section Number: 8
Sub-Section 1d: 416529537
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (76 to 80)

Juestion Label - Comprehension

Directions : The 3D figure shows the view of an object. Identily the correct side view
looking in the direction of the arrow, from amongst the answer figures,

Sub questions

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (76 to 80)
Cuestion Label @ Comprehension

991 : 3D W¥A oT=fa © U 95 F UF ¥4 FI femm g | 1 1 fewn ¥ 2 g, 59 e
Y9 1 W A § F TE=
Sub questions

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (76 to 80)

Juestion Label - Comprehension

Hael 3 - D 2ugld 25 ueield e adid ©, dlil Bt sddl wod, 42w 224 (side view)
syedled whiglctatiniall sl 53l

Sub questions

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Dirawing
Section Id : 416529351
Section Number : 3
Section type: Offline
Mandatory or Optional: Mandatory
Number of Questions: 3
Number of Questionsto be attempted: 3
Section Marks: 70
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529538
Question Shuffling Allowed : No

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
In the space provided in the answer sheet
for this question, draw margin lines to form
a frame. In this frame create an aesthetic
composition using only cubes. These can
be of any size, and may be placed separate,
overlapping or within each other. The idea
is to produce an aesthetic and visually
exciting composition of these shapes in the
frame without making it represent any
realistic form like house face etc. These
shapes and the other spaces should be filled
with some colors of your choice so that the
visual quality of the composition is
enhanced. 20 marks

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



Copy the graphic image shown inthe space
provided for the answer of this question.
Creditwill be given to the exactness of your
answer. 20 marks

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Sub-Section Number: 2
Sub-Section I1d: 416529539
Question Shuffling Allowed : No

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30

In the space provided for the answer of this
question attempt any ONE of the

following : 30 marks

Design and draw anappropriate pattern for
a square table cloth. Color or shade it to
enhance its visual quality.

OR

Draw a picture of a classroom looking
towards the teacher from behind the
students.

OR

Draw from imagination a picture of an
officer sitting in his office.



Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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